Name:

Adding Units of Length

Class:

Calculate and answer in compound units if possible.

gecm2mm+ 18 mm =

S5cmlmm-11mm =

2ecm2mm-12mm =

7cm2mm+48mm =

Ocmlmm-31mm =

87 mm + 33 mm

7cm3mm+22mm =

4cm 10mm-40 mm =

2ecm9mm+ 13 mm =

6cm8mm-20mm =

3cm8mm+22mm =

71 mm + 3 cm
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2cm2 mm- 16 mm

15 mm + 45 mm

48 mm + 2 mm

4cmSmm-15mm

128 mm + 172 mm

290 mm -170 mm

2cm 1 mm - 18 mm

67 mm - 3 cm 3 mm

I5Smm+2cm

4 mm + 36 mm

100 mm - 76 mm

2cm 9 mm + 27 mm
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Answers

Calculate and answer in compound units if possible.

8 cm2 mm+ 18 mm

5cm 1l mm-11 mm

2cm2mm- 12 mm

7 cm 2 mm + 48 mm

9cm 1 mm - 31 mm

87 mm + 33 mm

7 cm 3 mm + 22 mm

4 cm 10 mm - 40 mm

2cm 9 mm + 13 mm

6 cm 8 mm - 20 mm

3 cm 8 mm + 22 mm

71 mm + 3 cm

= 10cm

= 4 cm

= ] cm

= 12cm

= 6cm

= 12 cm

= 9cm 5 mm

= ] cm

= 4 cm 2 mm

= 4 cm & mm

= 6cm

= 10cm 1 mm

copyright:

2cm2 mm- 16 mm

15 mm + 45 mm

48 mm + 2 mm

4cmSmm-15mm

128 mm + 172 mm

290 mm -170 mm

2cm 1 mm - 18 mm

67 mm -3 cm 3 mm

I5Smm+2cm

4 mm + 36 mm

100 mm - 76 mm

2cm 9 mm + 27 mm
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= 6 mm

= 6cm

= S5cm

= 3 cm

= 30 cm

= 12 cm

= 3 mm

= 3 cm4 mm

= 3cm5 mm

= 4 cm

= 2cm4 mm

= 5cm 6 mm



